Question 1: When placing a 12V voltage at the ends of a winding wire, the current through it is 1.5A. The length of the wire used to wind the coil is (Knowing that this type of conductor if 6m long has a resistance of 2 (.)
Question 2: A copper conductor with a resistance of 9.6( with a core of 30 copper pieces with the same cross section. The resistance of each piece of wire is:
Question 3: A running resistor is wrapped with nickel alloy wire with resistivity
( = diameter of d1 = 0.5mm, wire length of 6.28 m. The biggest resistance of the resistor is:
Question 4: Put in the two ends a resistor R a voltage U = 12V, then the current through the resistor is 1.2A. If we keep the voltage but want the current through the resistor is 0.8A, we have to increase the resistor a quantity of:
Question 5: Resistance R1 = 10( to withstand the largest voltage set at its two ends is U1 = 6V. Resistor R2 = 5( withstand the largest voltage set at its two ends is U2 = 4V. The circuit consisting of R1 and R2 in series with the maximum voltage applied to the two ends of this circuit is: 

Question 6: Resistance R1 = 30( with maximum current of 2A and resistance R2 = 10( with maximum current of 1A. It is possible to connect these two resistors to the maximum voltage
Question 7: Two conductors are connected in series, one wire with length l1 = 2m, cross section S1 = 0.5mm². The other wire length is l2 = 1m, cross section S2 = 1mm². The relationship of the heat generated on each conductor is as follows:
Question 8: C same at every point urrent intensity in serial circuit
Question 9: A table that is used at 220V voltages in 10 minutes consumes a power of 660KJ. The intensity of the current through the table is:
Question 10: Two conductors have the same length, same cross section, the first wire resistance is twice the second wire resistance, the first wire has a resistivity ( = 1,6.10 -8 ( m, resistance The capacity of the second wire is

Question 11: For the circuit as shown in Fig. 1, where U = 24 V, R1 = 12, R2 = 9, R4 = 6, R3 is a resistance, ammeter with no significant resistance.
      a. Let R3 = 6. Find the current through the resistors R1, R3 and the number of ammeter.
      b. Replace the ammeter with a very large resistance voltmeter. Find R3 to indicate the voltmeter of the voltmeter is 16 V. If the resistance of R3 increases, then the number of voltmeter changes?

ANSWER
1. 24 m

2. 288(
3. 35(
4. 5(
5. 9V

6. 40V

7. Q1= 4Q2
8. same at every point
9. 5A

10.  3,2.10 -8 ( m
11. a. The current through the resistors R1, R3 and the amperage meter:

                                                         






* Because the ammeter has a negligible resistance, the circuit is shaped like a figure
* I1 = 2A, 
 R234 = R2 + 
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R.R

R + R

= 12,
 I3 = I4 = 1A.

* Return to the original diagram: IA = I1 + I3 = 3A, 
So the ammeter is only 3 A.
b. Look for R3 and comment on the voltmeter number.
* Replace the ammeter with a voltmeter: The circuit has the form: n R4.

We have I1 = 
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  + On the other hand: I1 = 
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+ Again: UMN = UMC + UCN = I1R3 + IR4
Substitution16 = 
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 Inferred: R3 = 6 
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* Total equivalent circuit resistance
               RAB = 
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Thus, when R3 increases the circuit resistance increases the main circuit current
I = I4 = 
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 U4 = I.R4 reduction 
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 U2 = U – U4 increase 
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 I2 = 
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 increase. I1 = I – I​​​2 reduction 
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U1 = I1R1 reduction. Vậy UMN = U – U1 will increase, ie the number of voltmeter increases. Tài liệu được chia sẻ bởi Website VnTeach.Com

https://www.vnteach.com
●





●





R1





R2





R4





R3





A





U





Hình 1





A





M





N





C





●





●





R1





R2





R4





R3





U





I2





I





I3





I4





I1





●





●





R1





R2





R4





R3





V





U





I1





I2





I





I4





M





N





A





C





●





●





R1





R2





R4





R3





V





U





I1





I2





I





I4





M





N





A





C





●





●





R1





R2





R4





R3





V





U





I1





I2





I





I4





M





N





A





C








_1514696497.unknown

_1514696504.unknown

_1514696506.unknown

_1514696507.unknown

_1514696509.unknown

_1514696505.unknown

_1514696499.unknown

_1514696503.unknown

_1514696498.unknown

_1514696495.unknown

_1514696496.unknown

_1514696490.unknown

_1514696494.unknown

